Sentencing Objectives

There are four fundamental objectives behind the punishment of offenders against society.  The purpose of each is the protection of society and to reduce the rate of recidivism (return to prison because of re-offending).  

· Deterrence

· Retribution

· Rehabilitation (re-socialization)

· Segregation

Deterrence

Society imposes penalties on those who commit wrongful actions to deter others in the community from committing the same offences, and to deter the same offender from repeating the offence.  Penalties may increase due to amendments to the Criminal Code (ie. drinking and driving).

Retribution

Sentencing as retribution is based on the principle of “an eye for an eye”.  In other words, the offender should be repaid in kind.  Retribution as a punishment has existed for thousands of years, however, modern society has moved away from retribution as an objective.  

Rehabilitation (re-socialization)

The views of society have recently changed to make rehabilitation a more important purpose of sentencing.  Today the inmates of penal institutions are provided with psychiatric and medical help.  They may also receive job training to make prisoners employable when they are released.  They may also go to “halfway houses”, which allow prisoners to gradually adjust to living in society once again, while still under control of prison authorities.  

Segregation / Social Protection

Social protection refers to the objective of restricting offenders so that they can not commit further crimes.  If someone is in prison they can no longer be a threat to society.  However, a high rate of deviance / crime exists in prison, so imprisonment can not be said to necessarily end criminal behaviour.  
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Outcome 4.1 Analyze ways in which societies exercise social control to achieve conformity.

1.
Review the four sentencing objectives and fill in the chart below:  (.5 each)
	Objective
	An example of a case in which this objective could be effective:
	An example of a case in which this objective would not be effective:

	1. Deterrence


	
	

	2. Retribution


	
	

	3. Rehabilitation (re-socialization)


	
	

	4. Segregation


	
	


2. 
Out of these four objectives which one do you believe is the most effective? Explain with an example.


 

(1 pt)

3.
Out of these four objectives which one do you believe is the least effective? Explain with an example.




 (1 pt)



